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) | India cular Country TN LI EL

 There is no state religion
{opt and practice any religion

v citizen has the rieht to ad
the basis of religion

b, L
yade among citizens on

No discrimination can be n

-l of the above.
) The preamble t0 the consl
n. Democratic, Republic
atic, Republic
tic, Republic

itution ofIndia declares Indiatobea:

a. Sovereig

b. Sovereign, Socialist, Democr

we-Sovereign, Socialist, Socialist, Democra
At e

d. None of the above
3. The most common form that democracy

— a. Limited Democracy

takes in our time is that of :

Vﬁépresentative Democracy
¢. Maximum Democrac
d.None of the above a U
Constitution of a country is a set of written s that are accepted by
P

1 4 Assertion (A): The
the people living in a Country.
Reason (R ) : It generates @ degree of trust and Co-ordination among peopl

different kinds of people living together.
R 5.In which magazine gandhiji eipresséd his vision what he wanted the constitution t© do
@Young India C. The Keshri
Discovery of India D. The Maiattha

)ﬂ,é.Which of the following statement is not true?
a. The provision in the constitution cannot be changed easily.

b. The constitution may be written or unwritten. (

Non- democratic countries do not have a constitution.

d.Even a club, cooperative association in your area may have a constitution. :
¢ imnrisoned in 1964 for opposing the apartheid regime n ¢

gthat is necessa

[

10 7. Who was sentences
“""a. Mahatma Gandhi Motilal Nehru
Rajendra prasad
ut sectors of economy and employme!

f class ix were discussing abo

0 8. Two students 0
which sector i

y Student 1st asked a question that

economy?
Help student 2nd to choose the corre

(a) Manufacturing sector
(b) ITsector
v 8- 4 ariculture sector

s the most labour absorbing sector of

ct option.



